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Class No. :

Name:

SECOND YEAR HTGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2019

Part - III
BIOLOGY

(Botany and Zoology)
Maximum :60 Scores

Time:
Cool-off Time : 20

2 Hours
Minutes

MinutesTime : 5

General Instructions to Candidates :
. There is a 'Cool offtime'of l0 minutes eachfor Botany and Zoology in addition

to the writing time of I hour each. Further, there is a '5 minutes'preparatory time'

for Zoolog1,, at the end of the Botanl' examination.
. Use the 'Cool offtime'to get familiar with questions and to plan your answers.
. Read questions carefully before answering.
. ll'rite answer to the specific number of questions as instructed.
. Calculations,.figures and graphs should be shown in the answer sheet itself.
. Malayalam version of the questions is also provided.

oJlalcitordlodDacr3gg oo.tcorgrnldcgoarn<i0 :

' crfla(lods auoornruflnf o.r3ooo cerucgenflg4o cro3ccucgdggo 10 dlcrild o-llcoo'a,36 acoo'ooso,
A6mcorldlaoJo. aJ3scoro ceocgenfl olola,uEgccroolo ,5 dlcrlsl ollccrrcgCl olo1a,lg1
rocorcoOs3qga,d msOmr3rm ofl mcoll mafl a3rmroc emi,

. 'aj6 clco-ci ooso' ar.Jc6J66B6 olrdl_o.tcorogscm3o g([roo66Bc6 GrocruJ(o6mo 6_e.JgcmJo
gcr-lCoccr5lAO3a.

. poroocrnd ogv3ro3rmoflcrl ogmJ co.tco;cund ,5gaoco.t36go cr.rcollaoerno.

. o6lgc oJlacoorullego nflacgcrdlaerods nelepo co.tcG;c6B6do" oc((Dco g(drooo
o€)e3c(D6ne(u)Jgg.

' aernao"a4ge4a.c6, dltroond, locn-gaca, o6cnfln: ponrrooo.rgdlot roorm g6rBce|dldo6rno.
. 

. ao.'l ca;cur c6 oaocgnrufle4o maftallolgern".
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Score
I. Answer any 3 questions from I to 5. Each

carries I score. (3 x 1=3)

1) Choose the correct answer.

The first restriction endonuclease

isolated is

A) Bam HI

B) Eco RI

C) Hind II

D) Cla I

2) Observe the figure given below and
identifu the type of gametes.

##
Choose the correctly matched pair
from the following.

a) Hibernation - Snail

b) Diapause - Zooplankton

c) Aestivation - Bear

Fill in the blank.

A method of molecular diagnosis.
based on antigen-antibody
interaction is

3)
3)

4)4)

PART_A
BOTANY

Maximum : 30 Scores

rtilillllil]!illil[il]llltll]

Time : I Hour
Cool off Time : l0 Minutes

Score
I ojronfl 5 cuooorjgg c-a: c a;arn pil rd

o6',3o<oa,1a3o 3 ooqqovurl <rf goYooooeloJa,.

I errycd oJl<oo. (3x l:3)

1) rnol colcror gromoo croo6rurosJaoJa.

oor:;ocofl c cr 6 ol1o1o91s3oro oo 1qi1

a,rc0 o6r6ccucmg6fl ocp oroon'

A) Bam HI

B) Eco RI

C) Hind II

D) Cla I

2) o.rScrros mrdalof)niao3cm d)1coo crfkdl

a,{lgio6oirooo a:Jlsc6cu066r:gco6mcm"

oOeS(ole

l/ \(\l \(
((
@@

" rJoos mcfl alocrcoJlrd nJlnn'cordlocoll

cgcdl c-cJ6rmroi oflooooros3ao3a.

a) crokdlocrfllo

b) olorccgcmi
- as)

BcroJgJoiao

c) ogcruflccrovc6 - aodl

oJlgco-rcoroi o-1316lXf ao3o.

rao ofl e cA - or9 cf,tc eru con'l 1".t oil1o-r cu 6
oro cn o roro,l oo sT mro c m o c ao1 cor3 pg
eoroo[rocorel coccocrj]domcor rdloflocem"
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Score

Observe thc relationship betrveen
the first two te ns and fill in the
blank.
Lichen : Mutualism
Orchid growing olt a nlango tree :

Answer any 9 questions from 6 to 16.
Each carries 2 scores. (9x2:18)

6) Expand GFC and DFC. Dilferentiate
thc two.

7) A novel strategy was adopted to
prevent the infestation of a nematode
in the roots of tobacco plants. Write
that strategy. Nat-ne that nematode.

8) Match the iten.rs of Colurnn A rvith B.

A B

a. Pusa Swanrinr i) Serni-dwarf
valiety of ricc

b. Jaya ii) I nscct pest
resistant
brassica

c. Pusa Sarvani ii i) Disease
resistant
Varrety of
blassica

d. Himgiri ir') Insect pest
resistant

bhindi
r') Disease

resislant wheat

s)s)

Score

GroGJa(drO O6n!l" r! 666BOa nnOOlO3gg
6rtlcruJo ommJle.lcaefl oflgco.tco racoo
o-rgrdlgflao3a

ooodo(6 i oJJ ^ rs,lru.
ocoJl(d oJAoJnn 6,c6d6rru.l :

lI. 6 o3rord l6 cuooo;gg a-al c BJ6rB e;l cfl

ogjo<oail er3o 9 o6lspnrorl <ri gorooo ooeiol6.
2 oagcd o-0<oo. (9x2=18)

6) GFC, DFC o61cn51or crflo4ellardlao3a,
poi o6reJo or ool aggg oJJoJcmlo
o.€)9J(DJ6

7) or3aorTao-o1s1 ogos ecuo'lom
oprlaolao3crn oo3 crfl oa6cno10m
rosolcc6 mJrom ocAcDoc6rn" ffula,rdlql]

$Bgoi rurO oc6go o.€lrui ? GrO

o'floc6co,uf1 ocf, coJoofiD" ?

8) ce,cgo A o3o B o4o o-oJ oJoaJdl

o-o..J66oJa,

A B
a, olaffu crujasrilo i) omgfocfi

oo6cuagggoi
9Dmo

b. eo ii) ajlsto:oflaoccu
ccoo$l(o))aa
as3ei ootdl

C. o.:3ml mloClCrfl iii) coccoto:ofl
eocuJGCooSl

o3gg a,s3ai
orrdl

d. orilocrJlol iv) ailslotofl
COCOOCToo I
(0)l8g 6.)C).16r1e

v) cocololofi
coccl ecoodl
or3gg oocroml

II.
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Score

9) Polynerase chain n:action has 3 steps.

a) Write the 3 steps.

b) Name the bacterium tiom which

Taq polymerase is isolated.

l0) Transgenic animals are produced to

obtain biological products.

a) Name the human protein

obtained lrom tran sgenit

animal. used to treat

emphysema.

b'1 Nanrc the first transgenic cou.

Write the peculiarity of its milk.

ll) Based on the nature of tolerance

of tcmperature. organ is tn s are

classified as eurythermai and

stenothermal. Differentiate the

two.

12) Notice the genes given below.

Cry I AC, Cry I Ab, Cry II Ab

a) Choose the gene that controls

corn borer from the above.

b) Name the bacterium from which

cry genes were isolated,

13) Observe the figure given below :

ldentify the cells A and B.

Write any trvo peculiarities of A.

a)

b)

I ffililt lill ill lill lllll llil llll

Score

9) cnlc$ocomj o-otoJlcri ciloca,:ucn' oSnrl
o€J36613g5lB',

a) oro qrm" "ergcunca o9e3ro3a,

b) scei cuc$ococni acldofkdl
o4sJrrro srucq'ldlorooflorf,
arLlooPJ(E)J6.

I 0) oo*or pa0gcmernri adlao3cmo!1mcol)

lscc6oudlcrilC ollosunog Bafr gcril{l+l
a6rB"

a) ogoodlrtjl o -c-J1ailnm.flao3cmoflmco!

pccbmi{lo4la; qorodcd cdlmi eldl-c2

amlosJ ocoffuJ6.rdJl o cfr co.loov3o3a.

b) ruror:;o ruro €colou"dlcriai o-lco3oJl

ocfl cotooe3roJa. oroofl ocft ,lcellorf,

(o-.lccoJe(D o.0.ro" ?

I I ) rocorcrlla oroo5ldoJtao:m3gp (o-l€{roo

ora m3cru ol gi dlcrllaog or3cllotodool
o.ormJo m{lcmc ooaooi o6)cmJo (ooo

ofkd gfl o1aogcm3. pcl oenego ooaila3gg

o{(oJ3cruo o0eJ(6)J6

I2) -o.r3clos mrdall ollolaotrcm dlm3aot

6gedlaoga,
Cry I AC, Cry I Ab, Cry II Ab

a) aacent cerucocJlom cdlorlcroflao;cm
ef nt ooo(o)rm'oladlrd oda'l
olrf aiirmo-olrh rfr rm' n61sgoro"

o€)vJ(oJe

b) oolad)m3a,o6 coOofldlo4slom

eruc€irdloooflorfr Go-r6)oei(ole.

13) -l3clos maflailol1r61ao3rm -o-l1coo cdlol

adlao3a.

A , B o61ccdl cacc,osn:crl of1ol-c;c5l
cQJ)4.

A"co;gers oeire- ruoJlcuDog roacA
o{)eJRDJa

a)

b)
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14) Observe the
given below :

Score

nucleotide sequence

Score

-cJ3oros mrdalololao3rm m;61
crorcoo6cn-r" mialr'6crd crfkdla,sdlao3a.

a) mg6f corcoo6cur' mllapScn"flonfl

coJoogJ(D3e.

b) pr mllal6mllni crfiOcu-amo

o.OeJ@Jar

(orcmola ggccm e&o(Door oeirecoJl

nnoo oicdlgf rdao3crn3.

a) rancuo3os coJoogJroJar.

b) lo..rcLooila gHccmasoro crfl ocluJl
oerser6'[Bog ro'gpgol1gf o1ao3rm1
(0ro(um)oo oena" "eLsaeorsca oo gJ(d)J6

-e..rJcuos mdaloiolao3rm
oJlroo nlloladlao3a.

b)

co.rcq4cerotcr? c6ocoro" a6oj a, b

"6.ntoJ of1o1qc5lo3a,.

-c-fl irororof|nfl mrdal oI1o1ao3rm

nuocr-rco;oroIlnfl r, K o6nrflcl
o6crotlom mr3oJlfl ao3rm3 ?

t4)

1s)1s)

a) Name this kind of nucleotide

sequence.

b) Define this sequence.

Primary productivity can be divided

into fwo.

a) Name them.

b) Primary productivity depends on

various factors. Write any two
factors.

Observe the figure given below :

Identifo the population growth

curve a, b.

What do r and K stand for in the

equation given in the figure ?

16)l6)

l
I

Z

o,

o
i!

o
o

l

I

z

a
0)

o
(n

o
o,

a)
a)

b)

Time (t) ..-----+
Time (t) -=)
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III.

Score

Answer any three questions from 11 to20'

Each carries 3 scores'

l7) lnsulin consists of

polYPePtide chains'

a) Name the chains'

(3x3=9)

two short

b) Write the steps involved in

the PreParation of geneticallY

engineered insulin'

18) Succession takes place in wetter

areas and dry areas'

a) Name the succession that takes

Place in wetter areas (water)'

b) Fill in the blanks of the flow

chart given below :

Phytoplankton --[-u-l --'

-rl b l-+l cl-
I

-+ lMarsh-meadow stage | ---+ I o I

----lT;.*;l

I llllffi illl llll llll lllll llll llll

Score

III. 17 o3ord 20 cr.roo c-o'rca;ongiltd ogo<o

a,la1o 3 o6legrorol ni 9<oorooovj<o3a'

3 aagcd oJlor. (3x3=9)

17) o ona" o -o..rcfl or co'lcpiloo'lo"l oo6nr-r"

uoJo oi el eigc6ni gcOnu;encri gggcri

a) rag oo;osr'rela'Sos GoJoogJcoJe

b) ecrfln:a o6lmJlcrfl orcflo<rllegos

poncru3ello0 crfl 6dlaoScmoflocfl

"aSanci ooel(ola

l8) mmclJgg lnlcr:soednC|el3o ol ro6rB

6,-rcr:croeorxjego 
m)€iTl)'gc6 cnsaoJcrrB

.n.n^ r)516l r.,icrsu?5uB4l(lfl (gelo)

msaoJcm crue"croogca ooR'i I

-o.r3cl os m dai o! o1 ao;crn

oq€calc6$ oJ36 ofit o) caoJe '

crucruJgJc!60 ---F-]--+

a)

b)

---rel
--.heo"1

SSE 26 BiologY 6/11
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Score

19) Observe the figures Aand B given

below :

Score
19) -o.r3cr.tos mnflal ollol ao3rm A, B

o6xnfl -o-lllroorari crfldladlact3a

Arophlc lcvcl Drt Ealght (LI it-')

SC

PC

PP

sc

PC

PP

1.5

37

E09

r0J

r00 J

' 1000 J

10,000 J

A

a) Identiff the tyPe ofPYamidsA, B

b) Which kind of PYramid is

always upright ? JustifY Your
answer.

20) Observe the flow chart given

below :

What do B, E, D, I in the flow
chart represent ?

Define D and B.

I,OOO,OOO J or grnrrSht

B

a) oJlodlol3acd A, B oflr6l-oyflo3o.

b) 
"Ooi 

o-fl oololcem' o€)Gd3eJo

cnl o-r 6 cm oroonold ars6mog
sJrmoi ? nflrungos gorooo mtrcoll

ar6laer3a,,

-ar3crJos cnaft eiolldlaoSrm cggco.:c6$

crflrdladlao3a,

oggco:c6$4fr B, E, D, I o6cnflm

oocnflom au3-cJlgf aoJrm3 ?

D, B o.6rnflcug1 crJl6cl-a:mo

20)

---r\.L---.-.-------- rz-

a)

b)

a)

SSE 26 Biology 7/11
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2)2)

Answer any 3 questions from 1 to 5.

Each carries I score. (3xl:3)

1) The extemal opening of the penis is

a) Seminiferous tubules

b) Urethral meatus

c) Vasa efferentia

d) Vas deferens

Leydig cells or interstitial cells

synthesise and secrete testicular

hormones called

a) Estrogen

b) Progesterone

c) Androgens

d) Relaxin

Select a chromosomal disorder from

the following :

a) Colour Blindness

b) Haemophilia

c) Down's Syndrome

d) Thalassemia

PART-B
ZOOLOGY

Maximum : 30 Scores

l illllll illillililt ililililil1I|

Time : I Hour
Cool off Time : 10 Minutes

Score

I aj<od 5 cuoo c-ercra;cun$cfl og';oora,1a1o

3 o6e4<oro1rn" gorurooacjrola. I crrycd

oJl<oo. (3 x l=3)

l) eflococlcno o-JJo G c6ro de;" ro3oao3nnoi
crSlcocem-.

a) Seminiferoustubules

b) Urethral meatus

c) Vasa efferentia

d) Vas deferens

oercokuJluic6cro66Bri onmoc pc666g{l
ortra6 cacco6.6nri pr.ior crilflg tcruoJl

d*J- cooc6cocem3agc6m' _
a) Estrogen

b) Progesterone

c) Androgens

d) Relaxin

ro c o v ro cm'l o1 ao3 rm o1 nfl m1 cm3 o

claccoccmrconfl odlcauc6oud aeneg

oJdlao3a.

a) Colour Blindness

b) Haemophilia

c) Down's Sl.ndrome

3)3)

SSE 26 Biology 8/11
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Score

4) RNA digesting enzyme among the
following is

a) DNase

b) Protease

c) Ligase

d) RNase

5) 

-- 
fungus genus from

mycorrhiza.

a) Anabaena

b) Azotobactor

c) Glomus

d) Oscillatoria

An_swer any 9 questions from 6 to
16. Each carries 2 scores. (9x2=18)

6) Gene expressions are regulated
in various levels in eukaryotes.
Explain the level in which it
occurs.

7) "Among nucleic acids DNA is a

better genetic material,,. List out the

disadvantages of RNA compare to
DNA,

8) Write down any four salient features

of genetic code.

9) pt + 2pq + q, = I is a binomial
expansion of a principle.

a) Identifii the principle.

b) Mention the factors affecting
this principle.

Score

4) nncov orcnflrdlao3rmcuold RNA oco;

olloadlgf acr3nn o6c6oonuo o6nn' ?

a) DNase

b) Protease

c) Ligase

d) RNase

5) ooocaocooomollot gotoo_t5 oloonu'
dlrnad o4yvgor3a.

a) Anabaena

b) Azotobactor

c) Glomus

d) Oscillatoria

f ,t,ona l0 cuoo c-r.rco;cungilafl o61o<aa,1o1o
9 o6lqgorolni grooooov3or;e,. 2 cngcrt

(9x2:18)
6) orJacolcocga$d dlr6 oofr"tn_.r 

"g 
cr?

oJlolo rooeung!cfl cflolo.oflaoogs3cm3.
o€lomgco oracragflacem" pc 1ot1alo
crflor loofl ao o g s3rm oi o.61rm" oJluo r:1

adlao3e,,

7) 'mg6!a; orgmllnlSagnff DNA ocern"
dla4 enflroa ocrpj," ecrflnoa clcrp3
o6;rm c5loollaft DNA o;ocoJl rocoorogo
oolq4ccruccB RNA oSos co.r:ocqacO
oIorJladlao3a.

8) ecrflcoa cacoJlerrfl o4;omeaic:3o mcei

cruojl ccaog oe,6 oO gJrDla

9) P'+ 2pq + qt : 1 oo3 orolorollorfl

ooeruecncdlcorrd cruJtroc!c6Jo.6'm".

a) pc o:or1o o{lrzJlgcflcorg.a.

b) 1.-:cr;3ro rocolooro en.:coJlaogcm

"er saoeo gao3cf I gi o,t1 cor:1 a o1

doJ€).

II.

SSE 26 Biology 9/11



Score

10) Homologus organs are result of
divergent evolution and analogus

orgqns are convcrgent evolution,

Explain divergent and convergent

evolution with one examPle each.

1l) "Placental mammals is an example

of adaptive radiation". ExPlain

adaptive radiation based on this

statement.

12) Complete the table :

13).Name the four types of baniers in

innate immunity with one examPle

each.

14) Explain autoimmunitY with one

example,

15) Name two drugs used against
allergy.

16) Complete the table.

I flllill llll llll llll lllll llil llll

Score

l0) ooolcl6oec$ o:o'lemcoerncO o3elo

C oOc oC e.lC ('/)Cru" (ootuc)oJ6.dBgJo

a,er0ocu6onr6 oJolemcoon od o3ao
oromcelccdoocuoroJ6uBgo o3orotslrfDJ
ooo,ucr, 6oe rfl -a er6oo 6o*cfr' "- d
emcooraci crc66c gocooo6m mlodlroc

olcor{1ardlao3a,

11) "gJccruco(fi aucruio cdlaca ooo.ucoJfrloJ

aonrJlcong cn" ao3 gr:coooemocem" "
pc (orwco]m gr:coor6l4f rcrocucoJfl oj
coor-fl cordic6 oJlcordlardlao3a

12) .-l$a o-r36omilcocao3a.

l3) accoc gccooo6m m.rorllroo mce4@oo

pam6 pogen5lfl orSos eru cr6loo3a,gos

ooJooYJoJa.

l4) clccgc pogen5lfl aq gr:coooem croodroo

oJluodadleo3a.

l5) ooel6dl6,o" o6ofloo go-l coru/lao3rm

o6rE" ooJrmJagos colro' o4;v3m3a,

I 6) o..l$a o46rumf1ocao3a,.

S. No. Disease Causative Organism Symptoms

1. Typhoid (a) High fever stomach

Pain

2. (b) Common cold Headache. sore throat

3. Amoebiasis Endarnoeba Histolytica (c)

4. Ascariasis (d) Internal bleeding
Muscular pain

A B C

(a) Fungus Citric acid

Acetobacter aceti (b) Acetic acid

Clostridium butYlicum Bacteria (c)

Lactobacillus Bacteria (d)

SSE 26 Biology 10/11
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Score
III. .{nswer any 3 questions from l7 to

20. Each carries 3 scores. (3x3=9)

l7) Match the column A with B.

Score
III. 17 qroaB r,0 cuoo c-o.rco;arngfla0-ogexunil4o

r ogqmototm goyoooaeJ<ola. J collcd
ojloro.

17) cacgo A ocor cacgo B
cDmJcarcBJ otr:eongocoll
ctJOdOl6.

(3x3=9)

ard os6
c-o.ro1o-n 13I

l8) a) Name the scientist who develops
DNA Finger Printing.

b) List the steps involves in DNA
Finger Printing.

t9) Expand the following :

a) YAC b) BAC c) ESTs d)

20) Prepare a flow chart based on the
chronological order.

18) a) DNA.-dlocnd loJirfltooioJtamitgfg
coc lcrpe-aoorfi GoJ ooeJroJa.

b) DNA o-doo6 to-flcfllo</lorQ oJloJlur
.et geurcd cru3oJl 6f aoga

19) rocov ronrfldldoJ.mcu@Jos o_g6epr_o3o..ro

o€)eJ(DJar.

\TITR e) SNPs 0 PCR

20) rocov eocnfl olao3rmcl o@ croclolJos
a,cer1a,o om3rrurdlqi c.t€c-olc6$(l0 @dl
anllao;a.

Dryopithecus, Homo erectus, Ramapithecus, Homohabilis,
Homo sapiens, Austraiopithecines

S.No. A B
a) Tubectomv Copper Releasing IUDs
b) Pills Non-medicated IUDs
c) Vaults Natural Method
d) Lippes loop Oral contraception
e) Lactational amenorrhea Surgical method
0 CuT Barrier method
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